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1. Fill in all the information requested above and the version number of the test on your scant-
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2. This booklet contains 12 problems, each worth 8 points. There are four free points. The
maximum score is 100 points.

3. For each problem mark your answer on the scantron sheet and also circle it is this booklet.
4. Work only on the pages of this booklet.
5. Books, notes, calculators are not to be used on this test.

6. At the end turn in your exam and scantron sheet to your recitation instructor.
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1) The graphs shown below are graphs of a function f, its first derivative f/, and its second
derivative f”. Determine the appropriate labels for the graph of f, f’ and f”, in that order.

A)a, b, c {{W
, s
B)a,c, b 4
.
C)b,c, a
2 3
D) b’ a,C 1 ‘i

oPE) c,ba

2) The derivative of 2v/f — % is

o

{A)%ﬂ—é’;—z-}
Bt

C) 2t3/2 — 6t2/3
D) $t3/2 - gi1/3

E) 3/2 4242/




3) At what values of z does the curve y = %—w?’ + %xz

We \oox «f-a\‘\’e'& svof/v\.“: Wéﬁ':o

A)z= —5:!:23[97

B)w=:§:\/%_4

Clz=T7andz=2

—

‘D)m=2andm=——7‘—(

E)Yz=2and 2 =3

dn

4) If f(z) is a differentiable function, compute the derivative of

A) m3f’(w)+f;ﬂf12f (z)+12

[ B) x3f’(m)—::f(fv)—12 6 (xd=

C) —a:zf’(:z:)+(3:ci——2:z:)f(:v)+12

X

5 pt 2 (K
D) Z°L@)-3e" ()12

E) 2f'(z)

32

?)(ﬂz

— 14z + 1 have a horizontal tangent?

é_&: e x —l4 = (x-r?)(x—z_) =0

= L. oad = ik
4+m23f(.'v).
(=) _ 4 & 43(%)
l(+x f ~ %
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.

zgf((x) — ') — [
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5) An equation for the tangent line to y = e®(z? + 5) at z =1 is

B) y = 3ex + 3e % /Q,uvu- (s 061\/:,»& I’)]' %\/_‘i“ a./Q‘ ” =]

C) y =4dex +4de o B

- dy ¥ (2 8)r %€ Wl L=
tD)y=86(L'-26 1w )
o Toos 6 ., LS Vey
E) y = 10cz — 6¢ da_ ge. So ot L

‘?\ 'a,—éeé‘-‘ge/(-z’&}

6) If y = (tanz)(sec ), then % at /3 is

éc“ = Se.c_L‘l
A) 8v3 Aé: ECUA.)L Sec R ‘?‘% x
.éﬂ»«?
B) 5v3 } feem = SR

fCH4 k ol

, !
D) § ﬁ.‘; Su,s)t'\‘ (:w”“'gt >
LN

E)11 Cem

XY
I
?‘\\b

Wleon %;Y;?)

é—;}“; g —+ 23 = [Lf

AR




7) Evaluate the limit

A) 4 e t»o & Cor b

B)1 3 /g 4 ) gm Y 4_ Ga

Q)2 £-0 4k Cor b

> 2. Gn 161

E) The limit does not exist Lb@‘u" 6'—? © Lo u E .

AR R o [ OV =L, L
o Cor &7 Lo T

/”7

8) The derivative of f(z) = 2(@*+32+2) gt ¢ = 0 is equal to

A)24ln2 | & Z

B) 101n2 /@a ‘:@(1\;— (17”4— 31+7_.) L
A _MQ(A

C) 10 go/ QL%W L ‘mwg( lews X >

D) 13e

o

| &) — (2x+3 > L
,?(x)

I
G F0z
Ol A =0 ,?(’@\—-’—‘- 2 =M
t?'(oy_.: (L Mt

“:%(1.) . (@1*3) ’&* z
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9) Suppose that C is the curve defined by 2y? — 2y® — 2 +2 = 0. Find an equation of the tangent
line of C' at the point (2, 1).

A)y=22-3 237.&\_ 163(,1) —~AL+2L =0
B)y=1z/2 N
Cy=-2z+5 3 spLa/L(l)a\(l)ﬁi = O
Gy gl - T
W‘/] W o\ﬂl‘k\'ﬂ
E)y=iz+2 b = %) é:i

-1 =60

E%Lux‘;"“ ‘fg 4al(l) — 1 — 6 al(l)

e A '7, = —~i
te A _ —29l(2) -2 =° (Wj
4—t= -t (-7) g s s F6a 8l
[4=—x+3 ( AT Ny

10) Let f(z) be differentiable at 2 and let g be differentiable at 1. Suppose that f(2) = 4,
f'(2) = -1, g(1) = 2 and ¢'(1) = —3. Let h(z) = (f[(g(x))])?. Compute A'(1).

A) K(1) = 36

{B)h’(1)=24 z'\(l)c (jf<j(x)>,) /
— /
C) K(1) = —12 }\}(1): 5 f{j(*))’ f(ﬁ(;\)). 7/9()

D) k(1) = 12

E) B/(1) = —48.




11) Let f(z) = arctan(z? + 1) Then f/(1) is equal to -ft-L drce La-* 8— = \

2
A | \ 49 (<9
B) 2/3 (*) = — > X
s | A+ (2%41)
D) 1/ o amt fO = B = >
E)3 4+4 '

12) Find the derivative of f(z) = z(2%) at e.

'le) = 3e (4
A) £(e) =3 ) 26 lix . ux = (Bax)

B) f'(1) =2e+1

C) f'(e) = 1/4 (

D) f/(e) = ~1/3 M _ 2 At

TR




